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Question 1

What are some advantages of the Model View Controller (MVC) design pattern used in SAPUI5?
Note: There are 2 correct answers to this question.

A. MVC artifacts can be transported and debugged separately.

B. Allows to define several views of the same data.

C. Allows changing the view without modifying the underlying business logic.
D. It supports quick coding.

Answer AD
Question 2
Where are the themes saved for the SAP Fiori Launchpad?

A. Inthe theme repository in back-end server
B. In the theme tool

C. Inthe Ul theme designer tool

D. Inthe theme repository in front-end server

Answer D
Question 3

Which of the following sequences is the correct sequence for the Problem Space phase in a Design
Thinking workshop?

A. Scoping ->Synthesis - Ideation

B. Discover - Design --> Deliver

C. Scoping—> Ideation = Design

D. Scoping—> 360° Research - Ideation

Answer C
Question 4

A business user is unable to find an application on the SAP Fiori Launchpad or on the App Finder.
Which of the following options could explain why the tile is unavailable? Note: There are 3 correct
answers to this question.

A. The user does not have the proper PFCG role assigned to see the application or tile.

B. The catalogs assigned to the user do not contain the relevant application or tile.
C. The OData service authorization is missing.
D. The target mapping for the tile is missing in the catalog.
E. The end user is missing the required group containing the tile.
Answer CDE

° +91-9871952577 www.examdumps360.com




w Exam Dumps

Question 5

Why does SAP Fiori use an intent-based navigation? Note: There are 2 correct answers to this
question.

A. Interdependent targets must be deployed in a single transport request
B. To support cross-app navigation

C. To provide different results to different users with the same intent

D. The concrete app targets can be deployed separately

Answer A and B
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